
“Helping you to get your children through the 11 Plus and into a school of your choice.” 

Verbal Reasoning Type G - ‘Calculating with Letters’ practice 

A = 2, B = 4, C = 6, D = 10, E = 12 ....  A + B + C = [__] 

 

A = 3, B = 6, C = 9, D = 10, E = 12 ....  B + C - E = [__] 

 

A = 4, B = 5, C = 6, D = 10, E = 25 ....  A + B + C - D = [__] 

 

A = 6, B = 7, C = 8, D = 10, E = 11 ....  B + D - E = [__] 

 

A = 22, B = 4, C = 5, D = 15, E = 13 ....  A - B - C = [__] 

 

A = 10, B = 6, C = 5, D = 7, E = 12 ....  E + C - D = [__] 

 

A = 16, B = 14, C = 6, D = 8, E = 12 ....  B + C + D - E = [__] 

 

A = 9, B = 6, C = 16, D = 18, E = 19 ....  A + C - B = [__] 

 

A = 32, B = 34, C = 6, D = 10, E = 12 ....  A + E - D = [__] 

 

A = 2, B = 4, C = 6, D = 10, E = 12 ....  A + B + C - D = [__] 

 

A = 30, B = 4, C = 20, D = 10, E = 50 ....  B X C - E = [__] 

 

A = 10, B = 9, C = 11, D = 13, E = 12 ....  A - B + C = [__] 

 

A = 9, B = 6, C = 8, D = 46, E = 36 ....  A X B - C = [__] 



“Helping you to get your children through the 11 Plus and into a school of your choice.” 

Verbal Reasoning Type G - ‘Calculating with Letters’ practice 

A = 2, B = 4, C = 6, D = 10, E = 12 ....  A + B + C = [_E_] 

           2 + 4 + 6 = [12] 

A = 3, B = 6, C = 9, D = 10, E = 12 ....  B + C - E = [_A_] 

           6 + 9 - 12 = [3] 

A = 4, B = 5, C = 6, D = 10, E = 25 ....  A + B + C - D = [_B_] 

           4 + 5 + 6 - 10 = [5] 

A = 6, B = 7, C = 8, D = 10, E = 11 ....  B + D - E = [_A_] 

           7 + 10 - 11 = [6] 

A = 22, B = 4, C = 5, D = 15, E = 13 ....  A - B - C = [_E_] 

           22 - 4 - 5 = [13] 

A = 10, B = 6, C = 5, D = 7, E = 12 ....  E + C - D = [_A_] 

           12 + 5 - 7 = [10] 

A = 16, B = 14, C = 6, D = 8, E = 12 ....  B + C + D - E = [_A_] 

           14 + 6 + 8 - 12 = [16] 

A = 9, B = 6, C = 16, D = 18, E = 19 ....  A + C - B = [_E_] 

           9 + 16 - 6 = [19] 

A = 32, B = 34, C = 6, D = 10, E = 12 ....  A + E - D = [_B_] 

           32 + 12 - 10 = [34] 

A = 2, B = 4, C = 6, D = 10, E = 12 ....  A + B + C - D = [_A_] 

           2 + 4 + 6 - 10 = [2] 

A = 30, B = 4, C = 20, D = 10, E = 50 ....  B X C - E = [_A_] 

           4 X 20 - 50 = [30] 

A = 10, B = 9, C = 11, D = 13, E = 12 ....  A - B + C = [_E_] 

           10 - 9 + 11 = [12] 

A = 9, B = 6, C = 8, D = 46, E = 36 ....  A X B - C = [_D_] 

           9 X 6 - 8 = [46] 


